Mondag answers — division bg 2

| Can you write the division number sentences these pictures are show'mg?

e S

O +2=5 2 +2=6

2. Can you solve these division number sentences’

0+2-=5 8 +2 =9
L +2=7" twenty + two = [0
fourteen + two = / 0+2-=0

3. Can you fill in the missing numbers?

H+2-=3 0O+2-=5
1) +2 =6 20+ 2 =10

L. Ben has |6 marbles. He shares them equallg between his two friends.

?
How many marbles do theg 9et each; Miss Ellison-Smith's top tip if you

aren’t sure what to do. ..

6 +2 =28
8 marbles

5. kram has 22 socks. She puts them into groups of 2.
How many groups does she have?
22+ 72 =l % %

I groups of socks

6. Do you agree with Sara? V\/hg/ why not?

| dLsagme with Sara because

. . 6X2=|2
but 6 + 2 = 3.
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